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Household Problem

I Preferences

max E

{ ∞∑
t=0

= βt(1+ η)t [(1− φ) ln(ct) + φ ln(1− lt)]

}
,

I Constraints

ct + it = wt lt + rtkt ,

(1+ γ)(1+ η)kt+1 = (1− δ)kt + it .
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Problem of the Firm

I Neoclassical production function

yt = eztkα
t
l1−α
t

I By pro�t maximization

rt = αeztkα−1
t

l1−α
t

,

wt = 1− αeztkα
t
l−α
t
.
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Equilibrium Conditions

1+ γ

ct
=
β
(
1+ αezkα−1

t+1
l1−α
t+1

− δ
)

ct+1

; (1)

φct
(1− φ)(1− lt)

= (1− α)
yt

lt
; (2)

ct + it = yt ; (3)

yt = ezkα
t
l1−α
t

; (4)

it = (1+ γ)(1+ η)kt+1 − (1− δ)kt ; (5)

Neoclassical Growth Economy with Labor-Leisure Choice



Deterministic Steady State

I The equilibrium conditions imply a steady state:

1+ γ = β
(
1+ αezkα−1l1−α − δ

)
; (6)

φ

(1− φ)
= (1− α)ezkαl−α; (7)

c + (1+ γ)(1+ η)k − (1− δ)k = ezkαl1−α; (8)
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I Or simplifying

1+ γ

β
+ δ − 1 = α

y

k
; (9)

(1− α)
y

c
=

φ

1− φ

l

1− l
; (10)

i

k
= δ − 1+ (1+ γ)(1+ η); (11)
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